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_ Solve the following triangles with the given information.
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Find the area of the triangle with the given information.
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Observers 2.32 mi apart see a hot-air balloon directly between them but at the angles of elevation

13.
shown in the figure. Find the altitude of the balloon.
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14. Two meteorologists are 25 mi apart located on an east-west road. The meteorologist at point A sights .
a tornado 38° east of north. The meteorologist at point B sights the same tornado 53° west of north. Find .
the distance from each meteorologist to the tornado. Also find the distance between the tornado and the
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15. Two observers are 400 ft apart on opposite sides of a tree. The angles of elevation from the observers

to the top of the tree are 15° and 20°. Find the height of the tree. N
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16. Two observers are 600 ft apart on opposite sides of a flagpole. The angles of elevation from the
observers to the top of the pole are 19° and 21°. Find the height of the flagpole.
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